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MTH 243 Sec 2 Quiz 7 April 14, 2005

1.  Find a parametric representation of the portion of the graph of y = 1.522 + 1 from (0, 0) to
(2,7). (On the zy-plane.)
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2. Again on the zy-plane, find a parametrization of the lower hemicircle centered at (0,0) with
radius 5. Your parametrization should be such that the curve is covered once in the ccw direction.
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3. Find a parametrization of the line L through (3,—2,1) and parallel to the vector @ =
—30 — 4] — 2k.
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4.  Find a parametric representation of the line tangent to the parametric curve 7(t) = 5 +
2tj + €'k, t in (—o0, 00), at the point (0,0,1).
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1. Find a parametric representation of the portion of the graph of y = 0.52% + 1 from M to
(2,3). (On the zy-plane.)

%=t
izc,s"t%l) 0 Lo, 2

il

2. Again on the zy-plane, find a parametrization of the upper hemicircle centered at (0,0) with
radius 5. Your parametrization should be such that the curve is covered once in the ccw direction.
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3. Find a parametrization of the line L through (1,2,—3) and parallel to the vector w =
—3i + 47 — 5k.
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4. Find a parametric representation of the line tangent to the parametric curve 7(t) = t% —
2t] + €'k, t in (—o0,00), at the point (0,0,1).
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